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“Flow, Error and aceess control are the responsibilities of

2aper / Subject Code: 78993 Computer Networks '
C
Sy 5) Q.P. Code: 33716
2% ]Iours) [Total Marks: 75]

LY Al questions are compulsory.
21 Fieures o the right indicate marks.
3) Mustrations, in-depth answers and diagrams wiy) be appesciared,

D Mising o Ub-questions is not allowe.

Afrernne o i Kaeh of 5Marks) (15M)
Choose the best chojee for the following questions; (5™

In simples mode, the communication is

a) unidir=ctional b) bidirectiong] <) haifway () None
Which siazement is falge:

a) A neiwork can be Hybrid b) A mesh topology 1s robust

) Star {("]’H"l)g_!y :'cqllii'CS less (’) Star l()pu]né:y s used mn High_

cubling, speed LLANG,

The — Laverjg tesponsible for the source - (o ~destination delivery of g
packet across niltiple network links.

a) duia linlk b)" transport ¢) network d) session
Allenuation, distortion,‘andoise can not impair a signal

a) TRUE V4 b) FALSIE
The mest common technique o change an analog signal (o digital data is
called :

a) PCM b) QAM ¢ C)\ NRZ d) Block Coding
Fill in the blanks. Usé'_followillgfp(iol to an$yver question, 5M)

Pool(digital signal, analog signal, FTP, ICMP, Physical Layer, Data Link
Layer, Five-l.a ycr,chcn-Laycr,4,8) RO

Line coding is (he process ofg:onvcrting digital datatoa _
__protocol does not work on Network Layer

layer.,

TCP/IP is a v hierarchicag] protocol suite developed before the OS]

model.
An IP address consists of _ octets separated by dots,

Answer the following i]ucstiorns: 5M)

List key elements of Protocol,

- Consider a noiscless channel wigp, , bandwidth of 3000Hz transmitting a signal

with two signal levels, What wi| be the bit rate?
What are different fundamenty] characteristic of Data Communications?

‘What are differen; ways in which Analog to Analog conversion can be

accomplished?

* Which are the specific Services provideq by the application layer?
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Paper / -S‘ubjcct Code: 78903 / Computer Networks
Q.P. Code: 337156

Attempt the following (Any THRFF ".Tjg:,n 4,f-'~I:1rks) (
What are the dlf'fcmnc,.:s between hal finlox and full duplex transmission
mode? { duplex

Name the four basic netwark tamar. - 1 ira the

n Kiloheriz?

tempt the following (Any THREE
*.'*."hsz" are the differences between paraiie! and seri

Wh

Yt

Name the advantages of optical fib=

4-,— ~

Describe the need for switching and 4o

Hew does a single bit error differ from 2 -
Discuss the conggpt of redundancy in oo

ich multipiexing technique is u

'_..

Attempt the following (%.n} THREL
Write a short note on Progess4oProc
Discuss the disadvantages oleasqu! add
Explain the working of CDMA.

What are the differences between randgfn and controlled acce
Explain the terms: i) HUB i))Routers. \
Write a short note ph‘ _Sér\‘icés of TCP.
Attempt the follo“ mo (-\m THREI;) (Each of SMarks) U

Name and explain ant thrc‘e t\pe\ of transmission imp@iuents.
Compare and contr’N a circuit swite hcu network and Packet switched network

~

“

Write a short note on Connegtmnln s versus Connection-QOriented Service

If a periodic su.nal is dewmpowd mta five sine waves with frequencies 100
300, 500, 700 and 900 Hz; what is its bandwidth? Draw the spectrum, assuming

all components have m'L\lmum amplitude of 1OV,
Write a short note on Pul\c‘ Lodc Modulation (PCAD.

.
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